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M, =4S, =-8, My, =AS), =-13, My = ASy, =-6, ,
M31 = ASSI =-3, M3z = AS32 =0, M33 = AS33 =-3, s
C, C, Cj, +M, -M, +M; -8 —-(-10) -3 -8 10 =3
Ac=/C, C, C,|=|-M,, +M,, -M, |=|-(-8) -13 -(-6)|=| 8 -13 6
Cy Gy Gy +M; =M;, + My, -3 —(-06) -3 -3 6 -3

Using the first row AA=1XM,, —2XM, +3xXM;=1(-8) - 2(-10) + 3(-3) =-8+20-9=3
Or using the second row  AA=—-4XM,, +5XM,, —6XM 3=-4(-8) + 5(-13) - 6(-6) =32-65+36=3
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My, = A4S, =3, M, = AS,, = -6, My =AS;; =3, J
Using the first row AA =1xM,, —2XM, +3xM5=1(-3) - 2(-6) + 3(-3) =-3+12-9=0
Since AA=0 A" does not exist.



